
Division de Monnaie (B)

Calculez chaque quotient.

1. 23 ) 839,50 $ 2. 44 ) 1144,00 $ 3. 43 ) 1698,50 $

4. 55 ) 2282,50 $ 5. 53 ) 1987,50 $ 6. 12 ) 330,00 $

7. 44 ) 1232,00 $ 8. 58 ) 5104,00 $ 9. 37 ) 3274,50 $

10. Si 47 sacs à dos identiques coûtent 4112,50 $, combien coûte chaque sac

à dos ?
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Division de Monnaie (B) Réponses

Calculez chaque quotient.

1. 23 ) 839,50 $
36,50 $

−690,00 $
149,50 $

−138,00 $
11,50 $

−11,50 $
0,00 $

2. 44 ) 1144,00 $
26,00 $

−880,00 $
264,00 $

−264,00 $
0,00 $

3. 43 ) 1698,50 $
39,50 $

−1290,00 $
408,50 $

−387,00 $
21,50 $

−21,50 $
0,00 $

4. 55 ) 2282,50 $
41,50 $

−2200,00 $
82,50 $

−55,00 $
27,50 $

−27,50 $
0,00 $

5. 53 ) 1987,50 $
37,50 $

−1590,00 $
397,50 $

−371,00 $
26,50 $

−26,50 $
0,00 $

6. 12 ) 330,00 $
27,50 $

−240,00 $
90,00 $

−84,00 $
6,00 $

−6,00 $
0,00 $

7. 44 ) 1232,00 $
28,00 $

−880,00 $
352,00 $

−352,00 $
0,00 $

8. 58 ) 5104,00 $
88,00 $

−4640,00 $
464,00 $

−464,00 $
0,00 $

9. 37 ) 3274,50 $
88,50 $

−2960,00 $
314,50 $

−296,00 $
18,50 $

−18,50 $
0,00 $

10. Si 47 sacs à dos identiques coûtent 4112,50 $, combien coûte chaque sac

à dos ? 87,50 $
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